v ; |

2 ] 1
PARTS LIST
ITEM|QTY PART NUMBER MATERIAL DESCRIPTION MASS
1 1 | AMF_OFS_SGL_KIT_316L SINGLE TOP ALU PL3X111.6 X 136.6 0,025 kg
PLATE
2 1 AMF_OFS_SGL_KIT_316L SINGLE ALU RB 150 X 66 2,040 kg
HOUSING
3 1 |AMF_OFS_SGL_KIT_316L SINGLE RUBBER| Rubber 2mm X 111.8 X 136.8 0,005 kg
4 1 10 PIN SOCKET 4] SLOT 316L RB 70 X 33 0,044 kg
5 2 M6 Allen Cap Screw A2 6mm OD x 10mm long allen cap screw | 0,004 kg
6 1 SOCKET 10 PIN INSERT VESCONITE RB 55 X 43 0,108 kg
7 2 M6 Spring Washers A2 6mm ID Split washer 0,001 kg
8 |10 SOCKET INSERT PINS 316L RB 10 X 44 0,009 kg
9 |10 M4 Serrated Washer A2 4mm ID Serrated Washer 0,000 kg
10 | 4 M4 Allen cap screw A2 4mm OD x 8mm long Allen cap screw | 0,002 kg
11 | 4 M4 Spring Washers A2 4mm ID Split washer
14 | 10 M4 Slotted screw A2 4mm OD X 8mm long slotted screw |0,001 kg
16 | 2 M20 X 1.5 BLANK PLASTIC BLANK PLUG
17 | 1 M20 X 1.5 (10MM GLAND) PLASTIC CABLE GLAND
19 | 10 Socket Pin Terminal A2 1.25-55/ 22-16
20 | 1 Earth Wire ( White ) Wire 0.75mm x 1000mm Long Insolated
Copper
30 | 1 DUST COVER GREEN RUBBER 70 X 2.5 X 40
31 | 1 DUST COVER ANTI THEFT CABLE 316L 1.5mm X 220mm LONG
32 | 2 ANTI THEFT CABLE TERMINAL 316L HEX 1-5-6 TERMINAL
33 |1 Earth Wire Terminal 316L HEX 6-6 TERMINAL
34 | 1 M6 X 10mm A2 GRUB SCREW
35 |1 4.8mm POP RIVET ALU 4.8 X 15mm LONG
36 | 1 DUST CAP WASHER AMF ALU RB 40 X 5 0.006 kg
37 | 1 DUST CAP INNER WASHER ALU RB 40 X 5 0.006 kg
40 | 2 M10 Nut A2 10mm ID Full Nut 0,010 kg
39 | 2 M10 x 35 Hex Bolt A2 10mm OD x 35mm Threaded Bolt |0,032 kg
38 | 2 M10 Spring Washer A2 10mm ID Split Washer 0,004 kg
NOTE:

ALL THREADED PARTS TO BE GREASED
WITH COPPER COMPOUND

NO TRANSFER OF INTELLECTUAL PROPERTY : Any & all drawings,
documentation, information or data provided by AMF to be used solely
for the use intended by AMF,nor may it be shared, copied, distributed
or disseminated in any manner whatsoever. All intellectual property,
including AMF's drawings,shall remain the sole property of AMF.

APPROVED
R.P.M.J.

TITLE

=

OPTIC SCULLY KIT SINGLE 10 PIN
PARTS ASSEMBLY

ALLGEMEINE MASCHINEN FABRIK

SIZE

A3

DWG NO

AMF_OFS_10PIN_KIT_ALU

REV

SCALE

1:1

SHEET 1 OF 1

6 | > |

% 3 |

2

| 1




